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�$� ��% &�Game-theoretical models of the incentive mechanisms are considered for the hierarchical organization.

'"()����*� game theory, decision making, organizational factors.
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is the aggregated output of j-th subsystem, Qj: Aj → Aj,
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Denote Rj(σj) – the set of j-th subsystem equilibriums
in the framework of the meta-system:
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Rj(σj) – the set of principals’

equilibriums.
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minimizes his incentive costs to implement the aggre-
gated output Yj and corresponds to the “ideal” aggre-
gation. Interval of costs, defined by (33) reflects in-
complete information of the meta-principal about the
models of subsystems. Hence the following statements
are valid.
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